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The SAP HANA – Optimized infocubes consist of main Properties. What are they?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Choose Execute. The InfoCubes are converted 
B. All newly created infocubes are SAP HANA optimized 
C. The SIDs are directly written to the fact table 
D. BW accelerator obsolete 
E. Need a second DTP for regular movements 
 

Answer: B,C,D
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To which class of provider is a MultiProvider assigned in a workspace?
 
Please choose the correct answer.
 
Response: 

Question No : 1

Question No : 2

Question No : 3
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A. local 
B. central 
C. virtual 
D. composite 
 

Answer: B

 

 

 
Name the two indexes involved in Partitioning of Write-Optimized DSOs
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. Active indexes 
B. ASP indexes 
C. Delta indexes 
D. Main indexes 
 

Answer: C,D

 

 

 
How you can see where the first data row begins, and how many headers there are?
 
Please choose the correct answer.
 
Response: 
 
 
A. Meta Data 
B. DB Data 
C. Display Data 
D. Core Data 
 

Answer: C

 

 

Question No : 4

Question No : 5

Question No : 6
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Identify the processes that populate the persistency layers of the EDW Model with
cleansed and consolidated, consistent and harmonized data in an adequate periodicity?
 
Please choose the correct answer.
 
Response: 
 
 
A. Data process 
B. ETL process 
C. WAS process 
D. AIS process 
 

Answer: B

 

 

 
What are the three main steps of EPM Model: Business Objects?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Generator 
B. Sales 
C. Stock 
D. Procurement 
E. Transformation 
 

Answer: B,C,D

 

 

 
List down the tools required to repair or redo unexpected failures during load processes
within the EDW?
 
There are 3 correct answers to this question.
 
Response: 
 
 

Question No : 7

Question No : 8
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A. Data Store Object 
B. Integrated Planning 
C. Metadata Management 
D. Process Chains 
E. Admin Cockpit 
 

Answer: C,D,E

 

 

 
What are the three main components of Semantically Partitioned Objects (SPOs) allow
users to create a semantic partition once and use it repeatedly?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Infobeans 
B. Cluster Data 
C. Master Providers 
D. Part Providers 
E. Infosources 
 

Answer: C,D,E

 

 

 
What information You can acquire from the font and the color of the text?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Red text: All time availability 
B. Black text: Normal provider fields 
C. Italic text: Calculated characteristic and constant 
D. Blue text: Join field 
E. Grey text: Users 
 

Question No : 9

Question No : 10
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Answer: B,C,D
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